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For each of the following calculate:
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Dynamics: Tension Worksheet (for Note 5)

a)Fnet of the system

b)Acceleration of the system

c)Tensions
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Physics 12 — Incline Net Force (w/ multiple objects)
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1. Ramp with friction, Block begins at rest. (5) Friction on surface, constan ===
w=0.25, us=0.30, 6 = 20° =4 kg, my =6kg,
m=2.5 kg Find a, Fy Force of hand pushing on m; = 50N. Fa = F«P. + Ff,_
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2. Ramp with friction, Block begins at rest. 6. Tablgalth friction, Blocks start at rest Fu=
w=0.40, u=0.50, B = 20° m; = 1.5 kg, m; = 3.0 kg, us=0.6, ux = 0.4
m=25kg Finda,F¢ Find « and Fr
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3. Mass pulled by string. Mass is 2.5 kg, 6=20° 7. Frictionless
a is horizontal. z—d.v m; = 1.5 kg, mx = 2.5 kg, 6 =20°
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4. Frictionless pulley. m; = 2.0 kg, my = ['5kg 8. Friction on surface, 14.7
Find a my =2.5 kg, my = 1.5 kg, 0 =40°,(1 = 030
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